ARTIRAEBERYS 104 24EE-2ME—RAHFEHE S

Be s L F IR 5 M
EEEFA SHALH  RAFHES ]

-~ P RAMK (27%  FH3 %)

1. HFB0CHEEE > 25°CH G +25 0 RIEATI2°CHR®=E__ °
2. —123sAa RS ° |
3.53=___ o

4. |-2|+-3-|6j=____ °

5. (—33) + (—700) = o

6. (~49)—(=704)= o

7. 12433+3+2x(-6)= o

8. #4 kA A() ~ B(-7) %% > Bl AB= o
9. 24z L4 C(36) ~ D(-2) g > RIsb R PR ARERE o

=~ B A h 2dig (56% 0 B 44)
10. Tkdeser A~B~C~D-~E~F BBt %iE -

4 )~ B ( )~C(___ )~D(

L] \m L -.-m.-.- 1 L 1 m -.-.-m-- | | -m 1 1 1 L -m L j—
-7 —6 —5 —4 —3 —2 —1 0 1 2 3 4 5 6
11. (=701)+234+708+(—105)+(—234)+701+105 = 3
12. #4 L AF 5 P(5) » MPEESEA 10 4R 5= °
13. (—Dx(=2)x(=706)x(-50) = °
14, 24415x33x (7)) +3X (-2 x0%x[~-2—3|=__ -
15. (=52) x50 + (—52) X35+ (~52) x15=____ =
16. —9-15+3x[4—(-2-3)—|-6+(-2)|]= -
17. ﬁMXWUM”mDXWDuD" r A= °

=~ BEm mmEAFaIE (10% » 582 o)

18. ( ) B4 FEH A2 ~BUS) B B C-DABBAB=% 5> BCREDSHES > B CLEHT?
A)13 B)12 (©)6 D)5

19.( DAB¥HE B-T<|4|<|—7| BA4£E$HME2 (A)1648 B)1548 (C)1448 (D) 1348

20.( ) AEAFBREIwEABSHLERG  EENETHRINEp g rse T . —
#|p-7/=10 > |p—s|=12 » |g~s|=9 > Bl|g—r|=" p q
A7 ®9% ©11 D13

F1HEHX2H



ARTIXREABERTL 04 25 EE-2HE - REAHPFEHEBH
S RS L& i 5 A

21 () FH&EHT  BEAL (A) (D'F(E3) @) -FREY € -FH(3 O) -3x2%(3x2)
2. () BHEEZMEA@) ~ BB) ~ Ce) » R |a-b+p-d=|a—c| - BIBE
(A4~ Cmthtl B) A4 ~CmtgitdE (C) A~ CEzxl (D) REET
o~ B AN HEIR (69 - H#2 4)
23. Ha-b@#o F—lal=—6>|—-b|=98]—-al-[b]l=__ -
24, # m=212:28—32» p=52x (2%2%)> Bl m+n= o

25. B.402015 X 19 = 38285 » B]2015 x 19° — 38284 x 19%*=

E A HE:HFEB (1%) MBEEREL!

F2HH*2ZH



ABRTIREBAERTS 104 2HEEF-S2HE - REHNFTEHLES

BB BEE L F It i e 2
EEEFR 20150 RAEHESR -
HFa -
— LA BARR (27% 43 45)
1. 2. 3. 4. 5 6 7. 8 9
= B - s Aebr (56% > 844 5)
10. 11. 12. 13.
A( ) | B( C( D( ) | E( ) | F(
14. 15. 16. 17.
O=__ | A=
=» EIESE MM PRIR (109 0 H%52 &)
18. 19. 20. 21. 22.
¥ - Pk mRENBEIR (6% @ B2 4)
23. 24. 25.
EA % 5588 (1%)

26. HIFES X~y EHEE ‘®" - x®@y=ax7+b+7 > E&1® 2=975
2 ®3=0989 » H2® 9=

i

4




